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MATHS - TEST

The HCF of 108, 360, 408 is

108, 360 w@BmiId 408 AUl elewimemen LBLIGLIH GLITH
6U@G 616001 6TGHILIG]

a.4 b.8 c.12 d. 16

The LCM of two numbers is 2079 then HCF is 27. If
the 1% number 189, then the 2™ number is

Qrewi® eTemIbeNen &FF M OUTH eud steor 2079.
BUEUm QuTsl U@ elewr 27. SiuBMled (LPFHEL 616w
189 e1atlled 26ugkl stemr Wimgl?

a. 179 b. 197 c. 297 d. 279
At what rate percent compound interest per annum
will Rs. 640 amount to Rs. 774.40 in 2 years

UGB Fal Bl g (pempuilsd 2 ewIBHeIe0 DiF6v
(5.640 PeuSHl H.774.40 & HewLHHI CUBBTEL,
SUEI(H QUL I96NEHID  6T60T6n ?

a. 5% b. 6% c. 7% d. 10%
In a circular path, the radii of 2 concentrate circles are
56 m and 49 m. Find the area of the circular path.

QM QILLUUTenSUTET @@  CQUIZHIENOW 6L L BIH6IT
I 5610 LB@ID 4906  eteflsd  eul L LLmenguiled
UglLdh  &ITeniis.

a. 3210 m° b. 2310 m?

c. 3120 m° d. 2130 m?

A Play ground 60m x 40 m is extended on all sides by
3m. What is the extended area

6015 x 40 15 Siemeysiten ellenemITL (B DLDSHTENEHS60
SmeHHI UbBHhIHBEHD 3 15 elfleiubGsHsiubans
- elfleuBdssiul L ugaulsr UFliLens] eTeTer?

a. 366 m* b. 666 m’ c.636 m* d. 638 m?
The Lateral Surface area and Total Surface area of the
cube having side 24 cm are respectively.

Ubd 6] 24 CM 2 _enl Wl @@ SFHITH 6
ymuugly oBmid Gordsl ugliy serug (penpGu
a. 3204 cm?, 4365 cm’ b. 4302 cm?, 6534 cm?

c. 2304 cm?, 3456 cm’ d. 2340 cm?, 5634 cm?

A alone can do a certain job in 25 days which B alone
can do in 20 days. A started the work and was joined
by B after 10 days. The work lasted for:

Pm  GPuLL (BITETheb 61T
wiurt. Guwsud B sefluns oips Csauemevenwt 20

BGauemsvemws A 25
BT &eMed  (primm. A Geuemevenwl OHTLmid 10
BreEel HPHH B Crralpmt eaflsd bk Gouemev
(LPIQUJLD [BTL_&6NT.

10.

11.

1 2
a. 12— days b. 14 — days
2 Y 9 Y

c. 15 days d. 6% days

Insert the missing number 5, 17, 14, 26, 23, 35, 32,

oN(BLILL  6TE0TEN6IT T amTab.

5, 17, 14, 26, 23, 35, 32,

a. 64 b. 54 c. 44 d. 34
Mr. Ram's monthly is Rs.24,000. He spent his salary
in following ways. What percentage he spent on more
than saving food?

SH®. T 10T QIHLOTEID ¢h.24,000-6nul LN6dielHLD
alfiaefey QFsvalBamTT. et CFollien ST 1geID
2 _WIeHETH 6IHHM FHMBID DHBID
OFsvalBammiT?

Dress
2,200

Entertainment
22,800

Food

Fuels 26,000

22,000
Rent » Education
¥ 3,000 ¥2,000
Others
21,500 Savings
T4,500
a. 16% b. 6.25% C. 7% d. 8%

The difference between the ages of two persons is 10 years.
Fifteen years ago, the elder one was twice as old as the
younger one. The present age of the elder person is :
am muTssier awg elHuTsd 10 yaaBSer. 15
ATBHEHHG (P,  pSHHauflen eulis  SeneTuIalsn]
el Bm WwLRIG. ahsHauflen HBEUTMHSHW aluIgh 6Teten? :
a. 25 b. 35 C. 45 d..ss

In a school with 600 students, the average age of the boys !
is 12 years and that of the girls is 11 years, If the average
age of the school is 11 years 9 months, then the number of
girls in the school is
@musTefulsd 600 LoTemeaITHET o _siteneiT. dpieuTsefsn !
Fyrefeiwg 12 yeoipset, FHpidseienr  gyref 11 !
emiboen.  Ueeflullen  ggmafl  euwg 11 ewiBaeT 9
LOTHMmISH6N  eTeufl60,LsiTerMullenr Fmiblaeit  eTewemnilaenaseteien ? '
a. 150 b. 250 c. 350 d. 450
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12.

13.

14,

15.

16.

17.

18.

19.

3; X 2% =10then the value of x and y respectively,
would be

X ¥ . : . .
37>< ZE =10 arefled X, Y 651 wAlenu HewiBLIg

a. 3,4 b.5,7 c.4,3 d.4,4
The sum of two numbers is 40 and their difference is
4. Then the ratio of the two numbers is

Ryewi(B
SPHHTOL SHlewLUUBH 4 SibH DIewiB 6TeNIHEHHGHLD
RenLliul L & HioTengl

a.11:9 b.11:18 c.21:19 d.22:9
If the length, breadth and height of a rectangular box
are 90 cm, 50 cm and 100 cm respectively, then its
volume will be

OF6ueussLl

GTEUIBEMET  dal lgaulled  dledL gl 40

QU iguiedr  Bem,  DIBEV, 2 WITRIGEI

wempBw 90 cm, 50 cm w@Bpd 100 cM  eafled
DG Herolenedled LI 6T6TLI

a.0.45m’ b.0.45m’ c.4500cm®  d. 20 cm’
If 12% of an amount Rs. 1080, then the amount is

@m Ostemsuler  12%  esiiug  RS.1080
NHOHTENHMUIS ST,

a. Rs. 9000 b. Rs. 8000 c. Rs.7000 d. Rs. 6000
The Volume of a solid right circular cone is 4928
cu.cm. If its height is 24 cm then find the radius of the
cone. (Use nt = 22/7)

QM Hewio CETeul L& FmlbLle Hendiene] 4928
&.05F.10 o6t 2 WD 24 0F.15 sreflsd FnlbLiledm

616060

I BTewis. @mig (T = 22/7)

a.49cm b.28cm c.24cm d. 14 cm
12 women can do a piece of work in 20 days. If the 4
women deny to work, the how many more days are
required?

12 Quetarsen @ Geousmevenwt 20 HILSeflsd QEwIw
WU, 4 QUENSET Geusmev Q&FULIW LMISSHTEV,
B TEILD 6T & & 601601 [HITL_& 61T G & 6mr617?

a.6 b. 10 c. 15 d. None
The approximate standard deviation of 10 natural
numbers is

1w Hs0 10 Buied erevwrseMen HI L eilevdad a6
Camymus &I eTeTIG)

a. 2.87 b.2.97 c. 2.67

Curved Surface area of Frustum of a cone is
QR Sl Qe SHHeMILHH 6 eUeneTUTLIL] 6T6ILIS]
a. 2nr’h sq.units b, 2rrh sg.units

d.2.77

20.

21.

22.

23.

24,

25.

c. rurl sq.units d. ©(R+r)l sg.units |
Two mobiles are sold at Rs 12000 each. One is sold at
20% profit and another is sold at 20% loss. What is
the overall profit or loss from the both transactions?
@peu® QmemLeL&6T Geom ¢m .12000 &@
allhaLLGFlTment. epeitml 20% OMUSEIS GLD LHAMTETM
20% meigL 5816 G elhasiuGEHne. @uen @

ufleuj &5 66 & eflef((hhHGID L GALTSHS 60MULD 160608
@\pLILY eT6oT6DT?

a) 4% loss b.4%profit

c) Neither Profit nor loss d.5% profit

20 persons completed %rdof the work in 12 days.

How many more person are required to finish the rest
work in next 12 days?
20 mufser 12 BILSefld 13 Geusmevemw :
Wassay. AGHS 12 BT sefe Bpeer |
Geusmev&emen (Pig&Hs Q@I THHmeT CUIT
Cgemeu?

a. 20 b. 12 c. 18

If a? + b? = 117 and ab = 54 find the value of

d. 40
a+b

a—-b
a’ +b? = 117 sisslsv ab = 54 symeyd BHEELOUTSI

—ch'n LDy

a.6 b.4 c.5 d.2 ,
The Simple interest on a certain sum for 3 years at
14% per annum is Rs.235.20. The sum is
ATBHEDHES |

Rm Ootensulst Heafeully 3

23520 Goed ey  efsnd  14%  safled |
IHEHTENBUI6H LOFHLIL] sTeTLSI
a. Rs. 480 b. Rs. 560 c. Rs. 650 d. Rs.720 |

Find the compound interest on Rs.50,000 at 16% per
annum for 2 years compounded continuously.
05.50,000 oFIHEEG 16% el eissHBE 2 |
LET(HEH6MET Fnl_(Beul lg 6T6dTenT? :
a. Rs. 17,280 b. Rs. 16,280

c. Rs. 15,280 d. Rs. 14,280

Findthe LCMof2x3x5x7and3x5x7x 11
15.QUIT.LD.  &HIT6viTb:

2 x3 x5 x7 3 x5x7x11
a.2x3x5x7x11 b.2x3*x5%x 7?x 11
c.3x5x7 d. None of the above
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